4991 SMC

Qty Mig Mfq Part # Description
1 [SMC CS1FF125-200 CYLINDER,FRAME PNP,STA 6
ACTUATOR,LG1H, SINGLE AXIS ELECTRIC,DIRECT ACTING, GUIDE TYPE, 700 MM
1 [SMC LG1H2122NC-700-F5 |STROKE
6 [|SMC MY1B80-PS SEAL KIT, RODLESS CYLINDER 80MM X 1400MM, H60
VALVE,BANK ASSEMBLY SS5V2-W16SA2WD-03B-N7 W/VALVES: SERIES SV2000
VALVES, EX500 DECENTRALIZED SERIAL WIRING, DEVICE NET COMM, 3 STATION,
1 [SMC SS5V2-GAL66 CASSETTE BASE
2 |SMC ISE40-T1-62L-A SWITCH, DIGITAL PRESSURE, HIGH PRECISION, 1/8 NPT, PNP, BRACKET A, 3M WIRE
2 |SMC MXH20-60 ACTUATOR, 20MM BORE, 60MM STROKE
13 [THK VRU2035 SLIDE,ROLLER
3 [SMC MXH10-40-FOPWL SLIDE, COMPACT, MXH, 10MM BORE, 40MM STROKE
2 |SMC MHY2-16D2-M9P GRIPPER,PNEUMATIC
2 |SMC MHC2-16D GRIPPER,PNEUMATIC
8 |[SMC D-F9H SENSOR,BARREL,SOLID STATE,FLYING LEAD,N.C.
5 [|SMC RZQA32-175-100 CYLINDER,3 POSITION,32MM BORE, 175MM FULL STROKE, 100MM FIRST STROKE
5 |THK HRW21CA 1SS BLOCK,GUIDE,LINEAR MOTION
2 |SMC MXQ8-10A AIR SLIDE TABLE,8MM BORE,10MM STROKE,RUBBER STOPPERS BOTH ENDS
10 |SMC AS1301F-U10/32-01 AIR, SPEED CONTROLLER, TUBE SIZE 1/8, SMC AS1301F-U10/32-01
CYLINDER, COMPACT DOUBLE ACTING, SINGLE ROD, 40MM BORE, 50MM BORE, M5
6 [SMC CDQ2A40-50D X 0.8 PORTS
3 |SMC VFA5444-03F-X1 VALVE,3-POSITION,OPEN CENTER, PILOT OPERATED
3 [SMC MXS20-30 MXS LIFT ACTUATOR
3 |SMC CDM2RA25-25 CYLINDER, RND BODY, DIRECT MT
TABLE, SLIDE, MXS SERIES, 12 MM BORE, 30 MM STROKE, ABSORBER ON
2 |SMC MXS12-30BT RETRACTION END, M5X0.8 PORT
2 |SMC MXH10-10 SLIDE TABLE,10 MM BORE X 10 MM STROKE,W/MAGNET
DIGITAL FLOW SWITCH, INTEG SENSOR, PFA 1/2 INCH, 50-500 LITERS PER MIN,
5 [SMC PF2A751-N04-67-M FIXED SI UNITS
1 [SMC CS1FF160-200 CYLINDER,STANDARD PNEUMATIC
8 |[SMC NCDQ2A50-50D CYLINDER,AIR,50 MM BORE X 50 MM STROKE
4 |SMC MXQ12-20A AIR,SLIDE TABLE,12MM BORE X 20MM STROKE, RUBBER STOPPER BOTH ENDS
GRIPPER, LOW PROFILE, MHF2 SERIES, 16MM BORE, DOUBLE ACTING, SHORT
11 [SMC MHF2-16DR STROKE, SIDE PIPING TYPE, M5X0.8 PORT
1 [SMC CDM2RA25-25 CYLINDER, RND BODY, DIRECT MT

Contents of Pallet

Page 1 of 7

10/31/201110:22 AM



4991 SMC

Qty Mig Mfq Part # Description
TABLE,MXS, AIR SLIDE,CROSS ROLLER GUIDE, 8MM BORE X 10MM STROKE, M3 X .5
4 |COX AUT(PM00038711 PORT SIZE
CYLINDER,AIR,C95 SERIES,BUILT IN MAGNET,BASIC MOUNTING W/O BRACKET,40MM
2 |SMC C95SDB40-50 BORE,50MM STROKE
CYLINDER,CDM2L32-125,C(D)M2,AIR,DOUBLE ACTING,SINGLE ROD,32MM BORE X
4 |SMC CDM2L.32-125 125MM STROKE,RUBBER BUMPERS
CYLINDER,COMPACT,LONG STROKE TYPE,DOUBLE ACTING,SINGLE ROD,32MM
BORE,175MM STROKE,WITH RUBBER BUMPER,MALE THREADED ROD END,RC 1/8
8 |[SMC CDQ2A32-175DCM PORTS
CYLINDER,METRIC,W/ AUTO SWITCH,BOTH ENDS TAPPED,32MM BORE,40MM
2 |SMC CDQ2A32-40DM STROKE,DOUBLE ACTION,MALE THREAD,1/8 PORT SIZE
CYLINDER,CQ2 SERIES COMPACT,WITH AUTOSWITCH. END MOUNTING. 50MM
4 |SMC CDQ2A50-125DC BORE. 125MM STROKE. DOUBLE ACTING. WITH BUMPERS. RC 1/4 PORTS
1 |SMC MXH10-30 COMPACT SLIDE,10 MM BORE X 30 MM STROKE,W/MAGNET
AIR SLIDE TABLE,SYMETRIC STYLE. SIZE 8. 10MM STROKE. STROKE ADJUST BOTH
1 [SMC MXQ8L-10A DIRECTIONS. M5 PORTS
1 |SMC MXS12-20A AIR SLIDE TABLE,12MM BORE,20MM STROKE,STROKE ADJUSTER AT BOTH ENDS
1 |SMC MXS12-75-A AIR SLIDE 12MM BORE X 75MM STROKE W/STROKE ADJUSTERS @ BOTH ENDS
2 |SMC MGPL25N-75 CYLINDER, 25 X 75 GUIDED
2 |SMC MGPL25N-75 CYLINDER, 25 X 75 GUIDED
MANIFOLD,3 STATION,FOR SY 5000 VALVES, ONE-TOUCH FITTINGS 1/4", 1/4 NPTF
2 |SMC SS5YJ5-42-03N7T SUP AND EX
MANIFOLD,6 STATION,FOR SY 5000 VALVES, ONE-TOUCH FITTINGS 1/4", 1/4 NPTF
2 |SMC SS5YJ5-42-06-N7T SUP AND EXH
1 [COX AUTQPE00019204 INTERFACE,FOR MODULAR SERIES AC40-06 BRACKET Y500T
1 |SMC MSQB10A TABLE,ROTARY,SIZE 10, ADJUSTABLE STOPS, 180 DEG. ROTATION
1 [SMC MHY2-20D-M9P GRIPPER,PNEUMATIC
TABLE, SLIDE, MXS SERIES, 12 MM BORE, 30 MM STROKE, ABSORBER ON
2 |SMC MXS12-30BT RETRACTION END, M5X0.8 PORT
CYLINDER,TIE ROD,DOUBLE ACTING, SINGLE ROD, BASIC MOUNTING, 50MM BORE,
1 |SMC C95SDB50-200N 200MM STROKE, NO CUSHIONS, G1/4 AIR PORTS
2 |SMC MXH10-10 SLIDE TABLE,10 MM BORE X 10 MM STROKE,W/MAGNET
1 |SMC MXH10-20 COMPACT SLIDE,10 MM BORE X 20 MM STROKE,W/MAGNET
AIR SLIDE TABLE,16 MM BORE X 20MM STROKE,METAL STOPPERS AT EACH END,3
2 |SMC MXQ16-20C WIRE PNP SOLID STATE SWITCHES,QUICK DISCONNECT

Contents of Pallet

Page 2 of 7

10/31/201110:22 AM



4991 SMC

Qty Mig Mfq Part # Description
1 |SMC MXQ20-20A AIR SLIDE TABLE 20MM BORE X 20MM STROKE,RUBBER STOPPER BOTH ENDS
6 [|SMC MXS-12-30-A AIR SLIDE TABLE,12MM BORE X 30MM STROKE,WITH ADJUSTER AT BOTH ENDS
1 [SMC NCDA1L150-0100 CYLINDER,STANDARD PNEUMATIC
1 [SMC NCDA1F150-0700 CYLINDER,STANDARD PNEUMATIC
2 |SMC NCA1B150-1200 CYLINDER,STANDARD PNEUMATIC
4 |SMC NCA1G150-0600 CYLINDER,STANDARD PNEUMATIC
1 [SMC MGPL25N-50-Y7PZ CYLINDER,STANDARD PNEUMATIC
1 [SMC MXS25-20AS-M9P CYLINDER,STANDARD PNEUMATIC
1 [SMC MXS25-40AS CYLINDER,SLIDE PNEUMATIC
1 [SMC NCDQ2A50-300DCM CYLINDER,STANDARD PNEUMATIC
1 [SMC MXS16-40AS CYLINDER,SLIDE PNEUMATIC
1 [SMC NCQ2B32-25DM CYLINDER,STANDARD PNEUMATIC
1 |SMC NCQ2B32-5DM CYLINDER,STANDARD PNEUMATIC
1 [SMC NCA1F250-0600H CYLINDER,STANDARD PNEUMATIC
1 [SMC NCA1G200-0200N CYLINDER,STANDARD PNEUMATIC
2 |SMC AR30K-N03B-Z REGULATOR,MODULAR STYLE,ISO 1179-1 W/ISO 228-1 THREADS
4 |SMC MHF2-16D GRIPPER,16MM BORE, SHORT STROKE, 16MM STROKE
1 |COX AUT{PM00038594 TABLE,AIR-SLIDE,20MMBOREX50MMSTROKE,W/RUBBER STOPPER BOTH ENDS
6 [SMC MXQ20-125B SLIDE TABLE, AIR,20MM BORE, 125MM STROKE, SHOCK ABSORBERS BOTH ENDS
CYLINDER,TIE ROD,DOUBLE ACTING, SINGLE ROD, BASIC MOUNTING, 40MM BORE,
1 |SMC C95SDB40-200N 200MM STROKE, NO CUSHIONS, G1/4 AIR PORTS
CYLINDER,AV SERIES AIR,3/4" BORE. FOOT MOUNT. 4.25" STROKE. PADS IN BOTH
DIRECTIONS. PORTS IN POSITION 1 ON EXTEND AND RETRACT. MAGNETIC
2 |COX AUT(PM00040362 PISTON.
CYLINDER,COMPACT,32MM BORE, 175MM STROKE, DOUBLE ACTING SINGLE ROD
5 |COX AUT(PM00038249 END WITH FEMALE THREADS, 1/8RPT PORTS
CYLINDER,FREE MOUNT,DOUBLE ACTING,DOUBLE ROD,20 MM BORE,25 MM
4 |SMC CDUW20-25D STROKE,BUILT-IN MAGNET
2 |SMC MSQB30A ROTARY TABLE,SIZE 30,ADJUSTABLE STOPS,180 DEG. ROTATION
1 |SMC MXH10-50 COMPACT SLIDE,10 MM BORE X 50 MM STROKE,W/MAGNET
AIR SLIDE TABLE,RECIRCULATING LINEAR GUIDE,16MM BORE,125MM STROKE,
1 |SMC MXQ16-125B SHOCK ABSORBERS ON BOTH ENDS,M5X0.8 PORTS
AIR SLIDE TABLE,MXQ SERIES,20MM BORE,150MM STROKE,RUBBER STOPPER ON
3 [|SMC MXQ20-150-A BOTH END
1 |SMC MXS20-50A AIR SLIDE TABLE,20 MM BORE,50 MM STROKE,ADJUSTER AT BOTH ENDS

Contents of Pallet

Page 3 of 7

10/31/201110:22 AM



4991 SMC

Qty Mig Mfq Part # Description
2 |SMC MXH6-25-F9PV CYLINDER,SLIDE PNEUMATIC
1 [SMC MSQB70R CYLINDER,ROTARY PNEUMATIC
1 |SMC CDQ2A50-175DC CYLINDER,AIR,50 MM BORE,175MM STROKE,PORT - RC 1/4
CYLINDER,FREE MOUNT,DOUBLE ACTING SINGLE ROD,20 MM BORE,25 MM
6 |SMC CDU20-25D STROKE,BUILT-IN MAGNETS
3 |COX AUT(PE00019220 REGULATOR, BUILT IN GAUGE, 3/4" NPT, 10-130PSI, NAMEPLATE
SLIDE TABLE,25 MM BORE,50 MM STROKE,ABSORBER ON RETRACTION END,RC 1/8
1 [SMC MXS25-50BT PORT
2 |SMC MXQ12-100A AIR SLIDE TABLE,12MM BORE WITH 100MM STROKE
VALVE,SOFT START UP,3/4" NPT, 24 VDC COIL,WITH PRESSURE GAUGE, INDICATOR
2 |COX AUT(PE00019192 LIGHT WITH SURGE SUPPRESOR, NON-LOCKING, DIN CONNECTOR
1 [DELTA |RMC150E-S2 CONTROLLER,MOTION
1 |SMC IR1010-N01BG-1 REGULATOR, PRECISION, .005-.4 MPA RANGE, 1/8 NPT
1 |SMC SV1000-05-P REGULATOR, MANIFOLD BASE, SV1000, ODD
6 [|SMC MGPM25-30 ACTUATOR, LINEAR, 25MM BORE, 30MM STROKE
1 [SMC MGPM25-30 ACTUATOR, LINEAR, 25MM BORE, 30MM STROKE
15 [SMC D-Y7PVL MGPM SENSOR, PNP 3-WIRE
DIGITAL FLOW SWITCH, INTEG SENSOR, PFA 1/2 INCH, 50-500 LITERS PER MIN,
3 |SMC PF2A751-N04-67-M FIXED SI UNITS
4 |SMC MHF2-16D1R AIR SLIDE, 16 MM BORE, MIDDLE STROKE
4 |SMC MXS-AS1227L-X12 STROKE ADJUSTER W/ M8 1.0 X 40 LG THREADED BODY), W/ HEX NUT
3 [SMC MXQ-AT20L BRACKET, STOP, AIR SLIDE TABLE, MXQ20L, SMC
CYLINDER,COMPACT,DOUBLE ACTING,SINGLE ROD,20MM BORE,50MM STROKE,ROD
7 |SMC CDQ2A20- 50DM END MALE THREAD M8X1.25,M5X0.8 PORT SIZE
45 |SMC D-H7PWSAPC SWITCH, PNP, 8MM CONNECTOR, FOR C85 CYCLINDER
2 |SMC AC40-E4L01 FILTER,AIR,/REGULATOR,MODULAR TYPE,LUBRICATOR
1 |SMC MXS25-20AS-M9PSAPC [CYLINDER,SLIDE,ECTI PRESS HEAD,STA 3
1 [SMC MXS25-40AS-M9PSAPC [CYLINDER,SLIDE,ECTI PRESS HEAD,STA 3
1 |SMC AC40-E4L01 FILTER,AIR,/REGULATOR,MODULAR TYPE,LUBRICATOR
GRIPPER,180 ANGULAR AIR,CAM STYLE,16MM DIA BORE,DOUBLE ACTING,THROUGHA
4 |SMC MHY2-16D2 HOLES IN FINGERS
ESCAPEMENT; 12MM BORE,20MM STROKE,TAPPED ON UPPER AND LOWER FINGER
2 |SMC MIS12-20D1 FACES M3X0.5 THRU
4 |SMC CDQ2WA40F-50D CYLINDER,40MM BORE,50MM STROKE,COMPACT,DOUBLE ACTING, DOUBLE ROD,
8 [|SMC VX2110-01-5TZ1 VALVE,SOLENOID,FOR GAS SUPPLY LINE,ORIFICE 2MM

Contents of Pallet

Page 4 of 7

10/31/201110:22 AM



4991 SMC

Qty Mig Mfq Part # Description
3 |SMC AF40-N04-Z FILTER, MODULAR
FILTER, 3/4" NPT, 5 MICRON, N.O. AUTODRAIN, MODULAR SERIES 4000, PSI
2 |COX AUT(PE00019218 NAMEPLATE
FILTER/MIST SEPERATOR, 3/4" NPT, FLOAT TYPE N.O. AUTO DRAIN, 0.3 ;M RATING,
3 |COX AUT(PE00019219 PSI NAMEPLATE

VALVE,BANK ASSEMBLY SS5V2-W16SA2WD-05B-N7 W/VALVES: SERIES SV2000
VALVES, EX500 DECENTRALIZED SERIAL WIRING, DEVICE NET COMM, 5 STATION,
1 |SMC SS5V2-GAL15 CASSETTE BASE

VALVE,BANK ASSEMBLY SS5V2-W16SA2WD-08B-N7 W/VALVES: SERIES SV2000
VALVES, EX500 DECENTRALIZED SERIAL WIRING, DEVICE NET COMM, 8 STATION,
1 |SMC SS5V2-GAL13 CASSETTE BASE

VALVE,BANK ASSEMBLY SS5V2-W16SA2WD-08B-N7 W/VALVES: SERIES SV2000
VALVES, EX500 DECENTRALIZED SERIAL WIRING, DEVICE NET COMM, 8 STATION,
1 |SMC SS5V2-GAL12 CASSETTE BASE

VALVE, BANK ASSEMBLY SS5V1-W16SA2WD-02B-N3 W/VALVES: SERIES SV1000
VALVES, EX500 DECENTRALIZED SERIAL WIRING, DEVICE NET COMM, 2 STATION,
1 |SMC SS5V1-GAL26A CASSETTE BAS

VALVE,BANK ASSEMBLY SS5V2-W16SA2WD-05B-N7 W/VALVES: SERIES SV2000
VALVES, EX500 DECENTRALIZED SERIAL WIRING, DEVICE NET COMM, 5 STATION,
1 |SMC SS5V2-GAL36A CASSETTE BASE

VALVE,BANK ASSEMBLY SS5V2-W16SA2WD-06B-N7 W/VALVES: SERIES SV2000
VALVES, EX500 DECENTRALIZED SERIAL WIRING, DEVICE NET COMM, 6 STATION,

1 |SMC SS5V2-GAL61 CASSETTE BASE
SWITCH,HALL EFFECT,PNP, 24V, 2 COLOR INDICATION, WITH 8MM QUICK
21 [SMC D-Y7PW SAPC DISCONNECT PLUG

ACTUATOR,HIGH RIGIDITY DIRECT ACTING GUIDE ELECTRIC,WITHOUT
1 |SMC LG1H2022NC-700-F3  |COUPLING,700MM STROKE,200-220VOLT

ACTUATOR,HIGH RIGIDITY DIRECT ACTING GUIDE ELECTRIC,WITHOUT
2 |SMC LG1H2022NC-700-F3  |COUPLING,700MM STROKE,200-220VOLT

BEARING,CX2,SLIDE UNIT,SLIDE,25MM BORE,X 200MM STROKE,SHOCK ABSORBERS

4 [SMC CDBX2H25-200B
2 |HPC AUT({DET 3015 COMB,THIN BOTTOM
1 |ALLEN BR[1769-SDN/B MODULE,DEVICE NET SCANNER, 1769 SERIES

Contents of Pallet Page 5 of 7 10/31/201110:22 AM



4991 SMC

Qty Mig Mfq Part # Description
VALVE,BANK ASSEMBLY SS5V2-W16SA2WD-04B-N7 W/VALVES: SERIES SV2000
VALVES, EX500 DECENTRALIZED SERIAL WIRING, DEVICE NET COMM, 4 STATION,
SMC SS5V2-GAL11 CASSETTE BASE
1 0 CYLINDER, DOUBLE ACTING, 32MM BORE, 30MM STROKE, 1/8NPT PORT
GRIPPER,LOW PROFILE AIR,2 FINGER, 20MM BORE, DOUBLE ACTING, SHORT
13 |SMC MHF2-20DR STROKE, SIDE PORTS M5 THREAD
2 |SMC MXQ12-75A AIR SLIDE TABLE,12MM BORE,75MM STROKE,RECIRCULATING LINEAR GUIDE
2 |SMC MIS12-10D ESCAPEMENT; 12MM BORE,10MM STROKE,TAPPED M3X0.5 THRU
6 |SMC JA40-14-150 FLOATING JOINT, M14 X 1.50 THREAD
4 |SMC NJO7 COUPLER,ROD END ALIGNMENT,7/16-20
1 |SMC SYJ5000-21-3A PLATE,BLANKING,FOR SY5000 MANIFOLD, WITH DUST CAP
23 [SMC Y-020B JOINT,DOUBLE KNUCKLE,M8X1.25 THD, 9MM PIN WITH SNAP RINGS
2 |SMC CXSL15-90 AIR SLIDE
2 |SMC JA40-12-125 JOINT,FLOATING,M12X1.25 THREAD
2 |SMC JB63-10-150 JOINT,FLOATING,JB,FOR COMPACT CYLINDERS, M10 X 1.5
CYLINDER,RODLESS,BALL BUSHING BEARING SLIDE,40 MM BORE,200 MM
2 |SMC CY1L40L-200B STROKE,WITH SHOCK ABSORBERS (2 PCS),AUTO SWITCH,RC 1/4 PORT
4 |SMC AS2201F-01-07S FLOW CONTROL, METER OUT, 1/8" R(PT) X 1/4"
2 |SMC AS2201F-02-07-S FLOW CONTROL, METER OUT, 1/4" BSP X 1/4"
4 |SMC KQLO04-M5 ELBOW,4MM TUBE X 5MM
59 |SMC KQ2U07-11 UNION REDUCERYY, 3/8'QD TO 1/4° QD
17 |COX AUT(PX00005333 REDUCER 3/8° QD 1/4° QD
39 [SMC AS2051F-07 FLOW RESTRICTOR ADJUSTABLE INLINE 1/4T X 1/4T
7 |SMC NAS2201F-N01-07S CONTROL,FLOW,1/8" NPT X 1/4" TUBE
CYLINDER,STANDARD ISO,DOUBLE ACTING, SINGLE ROD, 16MM BORE, 25MM
1 |SMC CD85E16-25-B STROKE, BAND MOUNTING SWITCH TYPE, M5 X 0.8 AIR PORTS
29 |SMC AS1201F-M5-03 FLOW CONTROL, METER OUT, M5 TAP, 5/32" TUBE
8 |THK GSR30T BLOCK, LINEAR BEARING, GSR30T
14 [THK GSR30T BLOCK, LINEAR BEARING, GSR30T
1 [SMC AR40K-N04-Z REGULATOR, MODULAR
15 |SMC F7P-SAPC SWITCH,SOLID STATE CYLINDER,3 WIRE PNP,24VDC
1 [SMC JA40-12-125 JOINT,FLOATING,M12X1.25 THREAD
10 |SMC BT-03 BRACKET,AUTO SWITCH MOUNTING,FOR 32-40MM BORE C95 SERIES CYLINDER
2 |SKF 30204 BEARING,TAPERED ROLLER,20MM ID X 47MM OD X 15MM WIDE
GRIPPER ACTUATOR,
4 |SMC MXJ8-10C 8MM BORE X 10MM STROKE

Contents of Pallet

Page 6 of 7

10/31/201110:22 AM



4991 SMC

Qty Mig Mfq Part # Description
20 |SMC SV2000-NO-P REGULATOR,INTERFACE WITH PSI GAUGE
1 [SMC MGPL25N-30 CYLINDER, 25 X 30 GUIDED
1 [SMC MGPL25N-30 CYLINDER, 25 X 30 GUIDED
2 |SMC MGPL25N-30 CYLINDER, 25 X 30 GUIDED
AIR SLIDE TABLE 12MM BORE X 30MM STROKE,RUBBER STOPPER BOTH
6 [|SMC MXQ12-30A ENDS,OPERATING PORT SIZE M5 X 0.8
6 [|SMC MXQ12-50A AIR SLIDE TABLE 12MM BORE X 50MM STROKE,RUBBER STOPPER BOTH ENDS
TABLE,AIR SLIDE,RECIRCULATING LINEAR GUIDE 12MM DOUBLE BORE, 40MM
2 |SMC MXQ12-40A STROKE, BOTH SIDE ADJUSTERS/RUBBER STOPPERS AIR PORT - M5 X 0.8
GRIPPER,12MM BORE,DOUBLE ACTING,MIDDLE STROKE,M5X.8PORTS,SIDE
10 [SMC MHF2-12D1R PORTING OPTION
3 [SMC MHZ2-10DN1 GRIPPER,10MM BORE DUAL ACTING,N1 MOUNTING TO REPLCE MHQ SERIES
5 [|SMC MHZ2-10DNH1 GRIPPER,10MM BORE DUAL ACTING,N1 MOUNTING TO REPLCE MHQ SERIES
VALVE,OSHA LOCK-OUT,3/4" NPT PORTS ( 1/2 " BODY SIZE ), 4.17CV, MODULAR USE
1 [COX AUTQPE00019202 SERIES AC40

VALVE, BANK ASSEMBLY SS5V1-W16SA2WD-02B-N3 W/VALVES: SERIES SV1000
VALVES, EX500 DECENTRALIZED SERIAL WIRING, DEVICE NET COMM, 2 STATION,
2 |SMC SS5V1-GAL25A CASSETTE BAS

VALVE,BANK ASSEMBLY SS5V2-W16SA2WD-04B-N7 W/VALVES: SERIES SV2000
VALVES, EX500 DECENTRALIZED SERIAL WIRING, DEVICE NET COMM, 4 STATION,

1 |SMC SS5V2-GAL6S CASSETTE BASE
VALVE,2 POSITION DUAL SOLENOID,24 VDC,LIGHT & SUPPRESSOR,MANUAL
2 |SMC SV2200-5FUD LOCKING. (NO MANIFOLD BLOCK)

CYLINDER,COMPACT,DOUBLE ACTING,DOUBLE ROD END,BUILT-IN
MAGNET, THRUOGH HOLES,12MM BORE,10MM STROKE,FEMALE THREADS ON ROD
4 |SMC NCDQ2WB12-10D END

DRIVER,POSITIONING MASTER,FOR AC SERVOMOTOR, FOR LG1/LJ1/LTF SERIES
ACTUATOR, INPUT: 200/230VAC 1PH 50/60HZ MAX 460VA, 100W 3PH MOTOR

1 |SMC LC8-B2H2P-MF OUTPUT, DISC
4 |SMC EX500-IB1 INPUT BLOCK, SMC EX500 IB1
4 [SMC EX500-1B1 INPUT BLOCK, SMC EX500 IB1

Contents of Pallet Page 7 of 7 10/31/201110:22 AM



